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The Rabbis believed them in regards to a Rabbinic requirement

OVERVIEW

The X773 states the reason we believe 02101 0°72¥1 2°W1 to claim 33°p72 IR (even if
we know for sure that house is not 172 [from before]), is because since the 217
72772 1s only 71312771, the 7127 chose to believe them. This seems to indicate that if
the 7p>72 21n were Xn»MXTH they would not be believed. nvoIn resolves an
apparent difficulty with this concept.

L 2
mooIn asks:
— NIPININTA 959N *0972) ©OWIY 175 199319501 TDT93 NYIW 937 Y57 23 Yy 9N
Even though that concerning anything which is ‘in their hands’, we believe

272y 2w and even if it is a RNYIRT issue; why therefore does the X3 state 7327 17317
112772, which indicates that the reason we believe them is because it is only a 131277 2117, when in
fact 072y o°w1 are believed even by a Xn» K7 if it is 7°2, and here by y»n np>72 it is 07°2 to be
yan pIa.

mooIn will now prove that 2°72¥1 2°w1 are believed by Xn>> X7 if it is O7°2:
- 3‘11‘,7’)11 91 NVINYN HY Tay) NYNRY DINNN NNV O 733 DOVYNT

For it is a daily occurrence that we believe an 72y 7WR concerning 7w and

4 . . . . .
MP%1." The reason we believe her is because it is 17°2, she can see to it that the food she buys is
797779 9PN vnwl.” We see that even by a ¥n»7IR7 such as 711 7YY women are believed.

mooIn (in addition) offers a Talmudic source that women are believed 8n»7R72 if it is 17°2:
— “9u191 139NV INTIINM 233 (owr 5,29 mama) 91D 7992)

' The term 17°2 means that whoever is testifying had the capability to actualize his testimony. If for instance someone
offers you food and you ask him if 2wyn was separated from it and he says yes; he is believed since it (is) [was] 17°2
to separate wyn from this produce. However if a 7w> and non-7w> piece of meat were mixed up, and someone
would testify which is which, this is not considered 17°2, for he could not change the non 7w> meat into IWw> meat.

2 mpoIn does not mention o°vp. See footnote # 9.

? 91 is the requirement to remove the w3 7° and various other 2°7° of 29m1 07 in an animal to render it Tw>.

* When a woman serves her husband meat he relies on her that it went through the proper process of 1 MW,
She is not required to bring two 07 to support her contention.

3 See ' "7 2,2 7v° MooIN, who states that even if women do not know v’ nw n397, nevertheless it is considered
172 since M7 F7°20 77 WA 2R 1IWH? W 0IAWY T2 77w 1Y’

% The mwn there mentions women who can be divorced without paying them their 72n3. Included in this list is
Awwn WRY N9*oRn. This indicates that the husband generally trusts and depends on his wife that she feeds him
wwn; otherwise if he is supposed to verify it, why should she lose her 721n3.
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And in 9727 P99 concerning the case where she was feeding her husband food
which was not tithed -

— AVUYNI NHN 1YY NYHY TNIOY ¥NIYN
It is indicated that the husband depends on his wife concerning 7751 and wy»
that they were correctly separated and he may eat (without even asking her). It is evident from
these two proofs that 121 o°w1 are believed Xn*7IX72 (such as Wwym 7% NP1 7V NW) since it is
17°2. The same rule should apply here by ynn np>72 for it is 17°2. Why does the X723 say M3
112772 1327; the X3 should have said ¥111»°77 since it is 17°27!

moon answers that even though generally women are believed if it is 17°2 even if it is a 7
NNPTINT -
— 0727 2) Y N 1IN NPT 23X DIPN YN

Nevertheless concerning y»r np>72, even though that it is 2732 to be P72 the ynn -
— 11D 1923135110 NI RNYIINTN M1 ON DIPN Yon

Nonetheless if the 7?°727 21’1 would have been XnssmR7T%», the 7127 would not

have believed them (regardless that it is 273). The reason is -
— DY) PYTPT 1298 RNYNY NNV RIINT DIVN
Because there is an extra exertion in Y1 n?>72 and it requires meticulous care

to be P72 properly, therefore it is not considered entirely 17°2 -
— 10 NNILSY DIVIY 91 WIINY "sn5¢19%a N1

As this is evident in "»%2y7> 71290 where he explains; ‘it is because women are

lazy’. This causes that it is not considered 172 and the (only) reason they are believed is because
12772 1327 1MIR; it is only a 13277 2.

It appears now that by 71277 0°1°7 we believe 0101 0°72¥ 0721, even if it is not 27°2. There seems
to be a difficulty with this assessment. md01n deals with this now.
— YO XD T2y NYND 1NY 19939010 81):1‘1‘1 P91290 M
And concerning the prohibition of 1"2Wn which is a 33397 "7, we believe an WK
72w, but we do not believe a Jup -
— INAY 129N 1Y 1DPAN (ow1 3,0 prsy) 1292Y1) 18D P92 NIINTH
For we learnt in a Xn>392 in 1P92y» 73%0 P90 that even an 72Y and even a 7mpw -
— DAY DIND JND Y 991D NN
Is believed to testify that until here is a n3w 2y (and one may walk up to that point).

The &n>>72 does not mention 2°1vp -
— 9102 PHYNYI IND 2PYNTN 29V PIT XY DNVP YaN

TXR"AR"D P92, The *nHw1 states that 0°w3 are not to be believed concerning yan np>7a.
¥ One is forbidden 112771 to walk more than two thousand nnR (a naw own) away from his residence [or city] on
naw.
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However 2°1up are not believed to state 'n2w 210 X3 7¥' for they are inferior to

TOWY 72V, since in our X923 the 0°1vp? are mentioned last. The xn>>12 here states 1979
D°30P 129X 0272y 12°9R 0°w3; in the order of decreased credibility, indicating that o°1vp have the
least credibility.

moon offers additional proof that 0°1vp are not believed concerning N2 owN:
— IVIPAINIY N1 )I7992 TOPNT DIIINI IIN (0w x,n3 97) INIT %YW P92

And in the second 95 of n121n> the 71wn states, ‘concerning these matters adults are

believed to testify what they saw as minors; included in this list is the testimony that -
— NAYA 1995713 9351 IND 1Y

‘We would walk on naw until here’. We accept their testimony as adults what they

remember from their childhood -

— NY 10V1P2 Yax ynun
It is indicated that while they are minors, their testimony will not be accepted. The
question is why 1»n is different than ynn np>72. We believe o°1vp for ynn np>72; why do we not
believe them concerning 1»1N?!

N1B0IN answers:
:NAN NPT 19 BNNI PN 799 Y99 0193 PR PRINHT DIVN 19950

That is because °2wn is completely not 273, therefore the 2°1vp are not

believed (by 1m11n) as they are believed by ynm np>72 (where it is slightly a73; for if
they put their minds to it they can be p712 properly; as opposed to 12110 which is not dependent
on them at all where the 0170 ends).

SUMMARY

’0>7231 oW1 are believed if it is 0722 even by a Xn™IRT.

0°72v1 oW1 are believed by a 13277 even if it is 592 0772 X (like 1m1N)

0°1vp are not believed even by a 11277 if it is 92 1772 PR.

van np 72 is considered 17°2 1°X (but not 995 17°2 1°R) and therefore 02101 0°7231 D°W1
are all believed since it is (only) a 73277.

THINKING IT OVER

MooIn maintains that if yan np°72 were XN RTA then 2°w1 would not be believed
since it requires a XN7°N* X170, Seemingly MP°1 also requires a XN7°N° X170 and
nevertheless 0°w1 are believed. What is the difference between 7p>72 and Mp~2! °

? Concerning Xn»1872 01vp if it is 072 there are different opinions. See 93 7y w"X77 Moo, (See footnote # 2.)
"% See »"wx M.
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